
ysum(Z,jet1+jet2)
dσ

dysum(Z,jet1+jet2)
[pb] Tot[%] stat [%] JES [%] JER [%] Eff [%] Lumi [%] XSec [%] PU [%] LES+LER [%] Unf sys [%]

0 − 0.4 23.9 4.5 0.29 3.5 0.36 0.66 2.6 0.039 0.054 0.028 0.46
0.4 − 0.8 21.0 4.5 0.33 3.5 0.36 0.70 2.6 0.041 0.074 0.047 0.52
0.8 − 1.2 15.3 4.5 0.40 3.5 0.40 0.85 2.6 0.036 0.13 0.040 0.61
1.2 − 1.6 8.13 4.7 0.57 3.6 0.45 0.89 2.6 0.055 0.33 0.022 0.71
1.6 − 2 2.39 5.2 1.1 4.0 0.71 1.1 2.6 0.063 0.50 0.11 0.92
2 − 2.4 0.172 7.5 4.5 5.2 0.92 0.48 2.4 0.033 1.0 0.17 0.92


